AS Booklet Code : D

Time : 3 Hours Marks : 200/100

Instructions :

(i) Omemark will be awarded for every correct answer for post code 11, 14, 15 & 16 and half
mark for post code 12 & 13. There are no negative marks.

SIeR 08 sarwd Y &6 11, 14, 15 So0acsn 16 o e Srdy, FY §& 12 Sodosw
13 §O0% wd &y, Teronoiso 2bddod. dindod Kerd)E Srdnee B

(ii) Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen the corresponding digit (1), (2),(3)or
(4) in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.
BKHS 1S @8 @H% ERIGI TEST JHBSI 3PS50 AFI TAQ FCOALeIA)
wog (1), (2), 3) BE (4) 3&m ad OMR 33758 Hgdnes® HHE 502080DN
domgiio T ay/er§ S 02008 DY) SHArHD QoDHBR.

1. Two children A and B are playing a game. A can draw a picture in 30 minutes and B can
erase it in 40 minutes. If A starts drawing, and if the drawing sheet is passed on to these two
alternately for every one minute, then the time (in minutes) required to complete a picture
for the first time is
A %8050 B o 9gd Hyeo 2.8 @80 ek Had. A e 30 DSnrest AoHROAB,
B o020 40 dnTodt 38D Ik, A Do fohrto Bndeongd Sdad 98
DB0XDB & @ ool DD DOLD Jodsy “eroddorm (w80 S6aE $E508) DEBR0B,
ASBTOT o HErd) Frh DooES BF SBocho (ddToS’)

(1) 240 (2) 232 (3) 1200 * (4) 233

7 18 men and 12 women can complete a work in 18 days. A women takes twice as much time
as a man to complete that work. Then the number of days required for 8 men to complete
the same work is )

5 S <)
18 508 HES s 12 Hooh é},en W€ 509 18 Sered® Jradobiod. a8 @ & I U=

oo Bemds, &8 Yo BRI DBasr8 3ZoR &% 0008, 8 $000 PDRen
©d HID Irh DOHTIS wIHEHSg e Vowg SN VR S
(1) 48 () 54 (3) 45 4) 52 ‘Ymo\we-zo o

Aboy, aman and a woman can do a work independently in 72, 12 and 48 days respectively.
- The number of women required to assist 6 boys and a man to complete that work in
2 days is

2§ e, wf DHHWE SHda%N & éoa o€ H0D DBIG™ 72, 12 Hobasn 48 G
S 8o Do, 668 et 0050 wf YOPE & 59 2 Sares® Jrg Wookss
B8 BITERDETIE BIBEHG Qo Jowg

(1) 12 (2) 16 (3) 18 (4) 8
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4. 64 men working 8 hours a day plan to complete a piece of work in 9 days. After 5 days, ,
they were able to complete only 40% of the work. The number of hours they should work
per day so as to complete the remaining work in 4 more days is
64 S00d Pew Sk 8 Hobe THYS HIVWIR w8 HAY 9 S’ Ird »305355"8)%
HEEo I3, 5 Fere SHTE T @ IS 40% @R BoKOAT . T8 & DADS
HAD 4 E5Y dres® FERHTIS T Fd INWADIORS Koo Dopg

(1) 10 2) 12 3) 14 4) 15
& Two friends A and B working together can complete a piece of work in 16 days. A alone can

w7 do the same work in 32 days. If A and B work on alternate days starting with B, the time

\\,\\@ g ‘ dwys) in which the work can be completed is
w“m ?ik o s Dges A$Boko B EOD H3B8: & DAV 16 Fred® Irg Bohhok. Awfd
@\h@ @23 I 32 Fewres” Babhiod. B & Indeond, A Hdcin B e, & DG 6“333

M-St '\!: P

HTR © HIQ o Sz s g doodo (S‘aaée;es‘) ' /&/}\‘;/
(1) 64 2) 16 3) 72 4)_ 32
The LCM 096,144 and N is 576. If their HCF is 48, then a possible value of N is g; q
;”‘7’3%6 144 $580%0 N o émb 576. 8 K. 48 wowd, N 88 fe wf 288 amﬁf
(1) 64 (2) 96 (3) 244 (4) 192 (R, by
The number of zeros at the end of the product 1003x1001x999x...x123 is ;E& AL 3L
ose b
1003x1001x999x...x123 Q) ogo WSS &oad Qo DJopg JE e g
(1) 225 (2) 213 3 9 “4) 1 X Li

352 411 152 352 410 153 350 412 149 353 409 150“\_’3 H
IfFA=2 5 3 ;B=2 5 3 C=2 5 3 ,andD=2 5 3 then the

s N N o
R ©% _ descending order ofA, B, C, D is ,
e, o2 LV 352 411 152 352 410 153 350 412 149 353 409 150

_\E

o “?‘%;&?fi‘”‘@z A=2 ‘B=2 5 3 ,C=2.5 3 $8amD=2 5. 3 eond
/\ Db/ A, B, C D o 058 ErnEHo W -
-/ (1)) AB,CD e 2)_D,C,B,A c
(3) A,D,C,B (4) A,C,B,D

9.  The smallest 5 digit number which when divided by 7,11 and 21 leaves the remainder 3 in

each case is

Ly
iy 1A A0 AN 1N 107 /AN 11 con N ’,‘7‘9(,1\ 1N doﬂ%&?é ¢
i) | WPV A \«) LU,1LU 7/ V) 11,090V gb J LU0 5 274\’
- <& ——
< 4-D o ? @ i-C}Q{OCfgfg, TN
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I£937x8y7 is exactly divisible by 1 1, then the maximum value of x +y is:

10.
118 937x8y7 sqydorr arhodREE0E, X +y R, K0H e
1y ¢ (2) 28 3) 11 4) 17
11. Ifthe number obtained after subtracting x from 2035 leaves the same remainder 5 when it
is d1v1ded by 9,10 and 15, then the smallest possible x is
2035 So0d x S BRIHM ST vowgdd 9, 10 %0800 15 0B rhodIDyd, w8 o
5 55308, ©dyE x § Dodhy EIY o
(1) 50 (2) 55 (3) 150 (4) 220
12. 127+094= | R e
= = - 29 DR
(1) 221 2 22 (3) 1.2794 4) =3 Xt
13. Let A:{(a,b,c)/cz=a2+b2}.1f(3, 5, %), (%, 3,7), (1,2, 5) are three elements of the
set ‘4’ and the LCM of x’ .32, 22 is p{ p32 b5 & petwhere py, Py, D3, Py &€ primes, then
pitpytpstpy
a, + 0, +0G+0y
A:.{(a,b,c)/c2 =a2+b2} wSFome. &% d& 4S° (3, S:x), 03,7, 4,z 5) e
Sards SaresBB 200050 P, Py Py Py @ BT DoDgRd ©@anSHYE x2,yt, 2 ©
ot PEPEPEPE wond wiyde DL PP
oo, tosta,
9 7 26 . 9
n 3 @ 3 () 3 @ 3
14. If the number of numbers between 100 and 1000 that are divisible by 11 is x, then the

number of total divisors of x is

100 S50 1000 & oy 118 gPhoDBE Dopgw Dopg X ©0oNd, WIYGE X Go0E)

Jngo PrastY Qopg
(1) 81 2) 5 (3) 3 4) 4
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15. Match the items of the following lists.

List-A List-B
a)  a, b are prime numbers i) LCMofa,b<ab
b) a, b are composite numbers i)  Conjugate surds
c) 13454 iii) Irrational number
d) ( 2+35 ) ( ¥2-35 ) iv) Rational number

v)  Co-prime numbers

& 1800 D@ 0S woisned BSRoHod.

W

he-A He-B
a) a,ben HErS Jdopgen i) abo > <ab
b) a4 bev Socsng Sopgen i)  dooswy Edmoen
¢) 13454 iii) soebos Bowg

Gﬁ 4'3\6“{5-3\6) V) e88Hcs domg
V) D5 (DEHE) B Sopgen

Correct answer 18

VOGRS 6
a b C d
(H 1 \% i il
2) i ii v iii-
3) v 1 v iii”
4) v 1 il

16. Let P1>P2-P3 be prime numbers and «, B,y be positive integers. If pf’pfp{

is a divisor of 34864764 lying between 100 and 200, then (p, + p, + p3) (+ B+y) =

P15 P2; P3en TS Hopgen dodn &, B.yen &3 JrgrosTeR wSoFonmro. 3486476450
100 $:6050 200 © $265 %008 w8 SBEG erassn PP Pl wond, wiyd
(P +py+p3)(a+f+y)=

(1) 64 ) 35

(3) 72 4) 88
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If x= ! 7 then x =
2+ —
2t :
2+-,
1 i
X = ] ©ond, WYL X =
2+ —
W
e 5LE,
o0 SRS
Vz-1 V241 4 _
) =~ @ — (3) 2-1 (4) -1-42
18. Ifx, y, z are three positive numbers such that (A —x): (A—y): (A—z)=1:7: 4 and
2A=x+y+zthenx:y.z=
IA=x+y+zoHsr, (A—x): (A-y): (A-2)=1:7:4 &gt X, ), 200 Hord GIE)E
éomgowé, Xy z=
(1) 8:5:11 2) 9:4:12 (3) 11:5:8 “4) 12:4:9
. L X _ Y a2 | .y—x _
19. If x#y#z#0,a =b"=c and — =—,then ——=
b c z—y
x#v#Ez#0, a =b"=c" Sobosn a0 ©a0d, Yor o
b ¢ z—-y
. ( o z ) y+z
20. Two different discounts x% and y% are allowed on two items having same cost price
and marked price. If P,% and P,% are respectively the profits on them, x —y = 20 and
B, — P,= 32, then the ratio of their cost price to their marked price is
Do 0000 RELES0 BErSom EOAS Bodkd SPoD x % S00c80 ¥ % ©F Bo

:5

DS G0 (S0Eo )0l QE7KH. BIPE G INIOP FodS ergfhnen N8I
P % 550050 P,% @ér, x -y =20 $:0080 P, P=32 sondd, & sdo FHae
. 58050 So@E3ve HEgieo NG
' (1) 52:12 (2) 10:18 (3) 5:8 (4) 16:

| 7D
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If < a<b then, forall x>0, —=
b¥x
atx

b+x ,
b a 1
- (3) 3 @

0<a<b ©o08, o) x>0 o5,

(1) x (2)

’

o

s s o

Four students A, B, C and D are running around a circular playground in a college and they
take 15 min, 25min, 35min and 20min respectively to complete one round. If a prize money
of Rs. K is divided in the ratio of their speeds, then the student who receives maximum

share is
A R C28a5n D el SentHdd ")z:s“odaen 2.8 Eordelold Koidd egéaroe)o &wﬁ

obm“ﬁc&éasgds TE 2.8 BHodn I8 | Bokotas 3 diocsodnen St 15 X)é&)ﬂm
25 Jdrew, 35 Iareo 508050 20 ddoAren. & K oiosod i T8 I
AYPS® HoRILYE, T0S° £0Y Trér 0B ITEY

1 A 2 B 3 C 4 D

The ratio among the following that will have maximum change in its value when 10 is
added to both the antecedent and consequent of that ratio, is

& BKrd &)Kz‘b@eﬁj Jrsg SoBasw éé%‘&:"oé‘&) Sopgedd Bo&ot3é 10 é@ﬁaééjcﬁa [wpy)
DenSeS® K0] SrdaySy Fod ARG

(1) 5:7 (2) 23 3) 47 4) 3:4

Distinct number of men, women and children have visited a park in a particular day. The
number of women visitors is 7 and the number of children who visited the park is maximum
among all the visitors. If the ratio between the number of men and women is the same as
the ratio between the number of women and children, then the total number of visitors to
the park is

DPBONS o8 Seres® ol sy H08BONS Hhdo, éo $opasn Dy dowg Sogdorr
&b, S Ho8BODY TOS* oo Hopg KORID Boda C«g Dodgsoe dopg 7.
DO Sopg LHBN @QJ Ddopge SoEy &)big, égo Sopg BN DL Jopge
Sodghe QG 288 wonsd, & Fwd FESH IS Indo dodGitoe Sopg

(1) 49 2) 21 3) 57 4) 45

25

At w0

If a person covers the same distance by walking, by cycling and by running with speeds in
the ratio 1: 9: 3 respectively, then the ratio of the ratios of their times and speeds of the
three modes of travel is

w8 58 1:9: 3 QPGS Imeod’ el Erovd) SO S8 Tgor, Dol Trgor Sodakn
DO o Wl Bk, ©ond G Kard AT T HooFoNS sreren bW
3o AR BwY, NS

() 1:1:1 (2) 1:81:9 (3) 81:1:9 4) 1:9:81
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1 .
If the sum of the ratios equivalent to 16%% , 335% , 5% and 25% is x % of 15, then x =

G

15 &° x % @888 16%%, 33-:1);%, 5% $580%0 25% o dogd Qe SWEBAEE
ORIV X =

16 ' 3 2
O = 2) 5 € @ 3

1
A student is asked to multiply a number K by 5. But he multiplies K by — and gets x%
' 1
error. Next time he multiplies Kby =7 >3 and gets y% error. Then the percentaoe increase of

y over x 1s

1
28 Doyl 8, K o0& dopglo 5 B Ke80550D T, wond, vdd K = 3 HoeBosdo

1
50 QS G0 x%. w8 v HTE K& o] B B30Iy SYI Fde y%. ©0o0B

x %08 y Q e TEo

o1 1 2 4
3=% 33=9 16=° 4y 24—%
(D 3 () 2) BA) 3) 34) 6] 4’:; o

I there is an increase of Z5% and 4% successively ii the saics of acar of brand X intwe

consecutive years, then the net increase in the sales after two years is
X 03 @roth 57 gy ©B5 e Bod H6 BoSBTrod® drdodsgormr 25% Hodain
4% 28 BodE, Dok JodHBine SHhad & 5°¢ wisoS’ ¥ Dk

29, :
1y 5% 2) 29% (3) 100% (4) 30%

29..

A variable x is proportional to y. If 3 values xy, x,, x5 of x are in the ratio 2:3:4 such
that x;+xy+x3 = 9 and x,y;txyytx3y3 = 29 then the ratio of the increase percentages of
X1V Xy yz, X33 OVer Xy, Xy, X3 respectively is

X 03 08 $0073, Y § HFES50S" ¢HB. X DY), Sordd JWOHLV Xy, X), X3 2:3:4
QQPS* wobar, x txytry =9 00w XV Xy tasyy = 29 e@dogtatnm €08, S8
X1, Xp, X3 © 808 X1y, XpV9, X3Y3 © SBog), RGO TEO NG

(1) 4:9:16 2) 1:3:6 (3) 1:2:3 (4) 3:4:5
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A fruit vendor has certain oranges with him. He sells each orange for Rs.5. Three customers

A, B, C successively bought 25%, 33%%, 50% of the oranges that are left over with the

vendor each time. Later a fourth customer D bought 4 oranges. If A and D together paid
Rs.140/- to the vendor, then the percentage of oranges left with the vendor is

wl Hod argrd I¢ Q) Srdoz ;’aqﬁc@ o). wdd 8§ Dok &r. 5 RN
wlodoar)do. A, B, C eo w80 $6ard 288 S60m o8 Frgrd & ©aF0 MNAdS
SGHS® 25%, 33»};%, 50% s, & $hard D od ool ARTATod 4 sroox

SHD Fand. A $80%0 D eo Sod srgros BQoS Sndo &, 140/- wond, 98 3¢
WA TrBoz HY) TS0
1

| 2 5
1 25 @ 57 (3) 202 @ 67

A, B, Cand D are four students in a class. A’s total score is 20% less than B’s total score,
C’s total score is 25% more than A’s total score, D’s total score is 20% more than A’s total
score. If the least total score among the scores is 240, then the ratio of the scores of the
four students in the decreasing order is

A, B, C 508050 D en 23 S5588 BodS Senidd ATgheo. A QwoF), Jodo 980,
B 3o0go 9,8 808 20% 859,85, C Sog), Indo 98, Adndgo 98 o8 25% REVR-
D &0, 3ndo 9,8 Adngo 36 08 20% 89S, © M Hos® Ed] Indo
240 ©0o08, 9IS TraEsed’ 8 drghe MG BoE, G

(1) 30:25:24:20 (2) 25:24:21:20

(3) 25:25:24:20 (4) 30:30:25:24

B,

2

A merchant is selling goods by importing from abroad. He gefs a discount of 33%% on

the catalogue price, pays 20% import duty on the net cost of the goods and sells the goods
for a profit of 25%. If the catalogue price of an article is Rs. 3,756, then its selling price
(inRs.)is

W Trgrd DHHHEL IBTONE BIHHE BREY wlnyhad. vdd THe $8
33-;—% ot Foddr, 88 8P 20% BKHB08 oso VoD, &5 JHKs 25%
OPB0SE BB0Ed. el SHH B0E), e o &, 3,756 vond, TP VHEY Jo

(KonereS*)

(1) 4,695 (2) 11,268 (3) 2,857 (4) 3,756
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A dishonest dealer claims to sell his goods for the cost price. If he uses 20% less weight
in weighing the goods, his gain % is:

2§ IPDYr0S TrgRrd S S FH)DU8 @50 B8 $Sogdenodoard. B3 Do
EriSoSdydd @8l 20% S80S 28J™ TB0508, &) ereTSo

2
(1) 20% @) 163% 3) 25% 4) 30%

34.

If a person sold his watch for Rs.24 with a profit percentage numerically equal to its cost
price, then the cost price of the watch is Rs.

w8 558 83 RbRdrory) S, 24 8 &92)3;)26&3&3 T FHRo Sogrg@gom [SESESE
T Eod Fod8, v KAXrEo FY Jo (Sners®)

(1) 26 (2) 18 (3) 20 4 22

35.

A shopkeeper offers successive discounts of 20% and 25% on the marked price of an

article and gets a profit of 20%. If he wants to make 40% profit, the percentage by which

the marked price is to be increased is

28 Bosr e af $R0H) B0k, HEBSEEP 20% So005» 25% &&rpo&do rdondgon”
){‘.ﬁxt\v

29), 20% erar) oo, odd 40% orard) ddoslareod, HEEE J

2oWl0S FEo

(1) 40 2) 4.5 : (3) 16% ' (4) 33%

36.

A shopkeeper sells two types of articles A and B for the same price at Rs. 150/-. The cost
prices of them are respectively Rs. 120/- and Rs. 200/-. On the first day he sells only one
item of A and increases this number by 6 units each day. He sells 50 units of B on first day
and decreases this number each day by 2 units. The number of days the shopkeeper mcurs
a net loss continuously is
€ Bosrmrtods A $0050 B 3 Dok 5o SiPols & 8 &r. 150 § edoerdo.
T8 FHBoo IHIm & 120 $o8050 &». 200. Boods s A 8o Sgho 288
Srgo 0oy, & Jopgd © SHTd HEGw 6 TIPS DowhFolr wiEo Ay,
3365885 B 880 Supesd 50 wdoy, & dopgd & S&are PAS 2 THYN
ShouoE ot ©H080 FIATE. 8 OFmdE SEJM QEE JP) FoB Sere
éomg

(1) 6 @ 7 (3) 8 “4) 9
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The following table shows the different number of items a shopkeeper sold with different
cost prices and different selling prices. Use this information to match the items of List A
with the items of List B. |

28 o5 mrdd 3¢ o P KvogpgeS‘ ol SR Qg IPY) §8) Jeoen, P
©0)0 owd & §od HPES® aSald. & ST o) TEER, TDS AS woTod,
e B &' woddned a8 Bohod.

No. of items sold (volume) 100 | 200 | 300 | 400| 500 | 600 | 700
00N SIo dowpg (HoSre0)

S.P of each item 14 | 12.5] 11 10 9 7.5 | 6.5
08 509 wdyfo Jv

C.P of each item 10 9.5 9 8 7.5 7 6
@8 S FHJo

List-A / =e°-A List-B / =*8&°-B
i)  The volume that gives maximum profit a) 400

103 orard) @) Hdsrwo
i1) If S.P of each item is increased by b) 500

Rs.1 then minimum profit is

98 5P ©5EH o ol Erdron

2008, wdvdd $T) 8% erglo
iii) The volume that gives minimum profit c) 600

8D ) zzz'f%) HBSr0

d 700
The correct match is
HOGHS G
i i i
(1) a b c
2) b & a
3) ¢ d a

4 a ¢ b

12-D
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The average score of 3 students A, B and C is 72. When D joins them the average score of
all the four becomes 70. If another student E, whose score is 4 more than that of D replaces
A then the average score of B, C, D and E becomes 68. Then the score of Ais

S0ty dergen A, B $:805n C o 0700 8 72 DBS" D EOvSHY, & $enihd
200 .6 70. A8 wdovor D 0B 4 89,5 &7,80 fo dogd E, Hae* 9% B,C, D,
E o 30700 9,6 68. 0dyid A &g, 980

(1) 75 " (2) 84 (3) 80 (4) 76

39.

The first quality of juice costs Rs.15 per litre and the second quality of juice costs
Rs.10 per litre. If the mixture of these two qualities is sold at the rate of Rs.14 per
litre, then the ratio in which these two qualities of juices are to be mixed in order to get
a profit of 20% is
36 5608 HE) 8o 6% D Er. 15 508050 Bodd 5K J¥) Sdo 28
L& 8. 10. & Bodk 5cdBe oEdod Sk & 14 DS 028, 20% ergiod
HoFBoSTE, & Bok FROBL I¢) SO FOIIOVS IYNG

1 1
(1) 1:1 2) 13 3) 5:1 (4) Z:l

40.

The average of all the numbers which are the first ten multiples of each of the first ten
natural numbers is .

B0 DB é‘fmaéospgeé‘b PATQ By I0EE, 58 Hderod)ods RBg), $omHo

(1) 3025 (2) 50.5 (3) 755 (4) 255

41.

The ratio of copper to zinc in an alloy ‘A’ of 7kgs is 5:2. The ratio of the same metals in

" that order in another alloy ‘B’ of 7kgs is 3:4. If 28kg of alloy is made by mixing A and B in

quantities x & y respectively so as to have the ratio of copper and zink in the ratio 1:1, then
x:yis

7 85 rine A o3 DFS0S® ooh $BasH Bofo g 5:2. 7 g5 e B 9l &
DFS0S* T SEHBS* ©F SErdne AP 314 A Sdcin B o S&dm x Sodosn y
$OSreSnOS 0D 28 ESYrine E STEHR) ooh Sodosw @ofeo 1:l ARG’
&oBirty SASFHTY wdyd x 1y =

(1) 16 (2) 2:5 (3) 37 4) 13
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A milk vendor generally sells 3 Grades of milk. Grade I is pure milk with no water mixed
in it, Grade II is a mixture of milk and water in the ratio 3:2 and Grade III is a mixture of
milk and water in the ratio 2:3. On a particular day he has x liters of Grade I and 3 liters of
Grade [II milk and he got an order to supply 7 liters of Grade II milk. The minimum value
of x (in litres) required to prepare 7 Its of Grade II milk by mixing Grade I milk, Grade III
milk and water, is '

wf FoTgrd 3 6o e vined. 880 I ) I Sr@in odd HES e,
§8o I, Jrew D000k Ay 3:2 AWBS® ORS oo, ¥o III, ed 50050 dhy
2:3 IPBS® EOVS WFd0. 0 IJRIS Fard w8 S¢ x dLY S0 [ Hbasn 3 d&g
Sgo Il rev ¢o8, 7 OwE 8o Il rosH 98l a8 &8s (order) oDoosd. 1S 8o
e, [H S 880 Zren S08050 A 0D 7 @éoé I35 880 o Sc5rdH Roms
HORS x BNE), EAD s (dwgs’)

21

(H 3 | @ < B 2 (O

43.

A business man buys two qualities A and B of a product at Rs. 120 per kg and Rs. 60 per kg
respectively. He then mixes these two qualities and sells at Rs. 100 per kg. Then the
percentage increase in the profit on a certain quantity of the mixture of A and B in the ratio
7:11 on the profit on the same quantity of the mixture of A and B in the ratio 1:1, is

wE grd A $0c50 B o3 Sodh Tregdente e S99, 8. & 120 THS AQ,
S & 60 FRYS B Fobrd. o8l o8 Bodod 0% & & 100 RSN
winerd. A, B o 11 dRBS® feodm ) a¥ /R Hosrwote oo Sod
Pols wrgdn A, B ol 7:11 IRBS’ Eaodmr B o8 H08rwose dEFso Sod
FobS ergo R, DEOHEL TES0 |

80 80 200

75 .
® 5 R Sy Gy = @ =

44,

A jar contains a mixture of 2 liquids A and B in the ratio 4:1. If 10 liters of mixture is taken
out and 10 liters of liquid B is poured into the jar, the ratio becomes 2:3. The amount of
liquid A contained in the jar initially is

(1) 12 liters 2) 13 liters (3) 14 liters (4) 16 liters

28 2&S® A, B o3 Bo 85w (550w 4:1 QBS® Gamon. @ b $0s& 10 d&g

- MEFSrY) wchwd 8, © wESVE 10 dwg (550 B FIDyE T8 28

2:3 ©H&0b. © TGS FEoFoS® &) (B0 A HoIr@o
(1) 12808 (2) 1398 (3) 14 &0 (4) 16 o028

14-D
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45. The amount of water to be mixed with 32 liters of pure fruit juice so as to get 25% profit
on selling the mixture at the cost price of the pure juice, (in liters) is
32 S&g GBS HogEard8 ABJ Sl S5y MFHo Boog), wIEo &> DgefPad
Hog $do BE), THEE™ Doy, & MFso wiE0D 25% ereio FoSTAS EOHIONI
283 HoSwe0 (ST
(1) 8 2) 10 (3) 16 (4) 4

S hr and
1 ‘ 4
—6-hr respectively. A tap C empties the full tank at the rate of 7 liters per min. If all the

46. Avessel of capacity V liters can be filled by two taps Aand B independently in

3 taps are opened simultaneously, the full vessel is emptied in 120 min. Then V=

V d&¢ HoSre roggo Ko o8 PSS Dok §eronen A $20030 B oo S&Jm

1 -
-}I Kotres* SoBas0 = Kobss® Qodiod). eé Feron Ces Jok S JB0ards 7 ded

Sodos rdBB08. & Srd Feronod JEFeoS” BODSHYE Do GF) © FE

120 9%0Tros® @ wHdod. wdyd V="
(1). 45 (2) 35 (3) 42 (4) 40
47. A pipe can fill an empty cistern with water in 5 hours. Due to leakage in its bottom, it takes

6 hours to fill the cistern. When the cistern is full, the time (in hours) in which it is emptied

due to leakage is _ .
w8 &0 28 @ &0 5 KobreeS® HBS Jodfed. I8 kil fe Ot (o)

o © 8% DoHTIE 6 Kobren DS, §F o )Ry e OB Jod
@0 7 VIEIE HF dJaPo (Kotdreres®)

1) 30 2 = 3 Ly | 4 4
) @ 3 3 35 OR
. 48. Three pipes A, B, C have flow rates of 2 liters, y liters and 3 liters per minute, 2<y<3)

respectively. The lowest and the highest flow rates of the pipes are decreased by a constant
quantity x. If the reciprocals of the flow rates of A, B, C are in arithmetic progression both
before and after the change, then x =
A, B, C o3 Sorchy Fr&doe PRty Sdm Q80X. 2 Dy, y L& RS felense!
3 d6dy (2 <y <3). Fysne o, £y $8050 K0% HaTHdL o YEH0IT®BO
X BRoTEd. & SPEIL S008 H0asn SHad Srw A, B, Co @08, @mﬁv@ééﬁ
HgEhSren ©osFHS* G508, vdk X =
(1) 2.6 2y 22 (3) 25 (4) 24

15-D ;
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A swimming pool is fitted with 3 pipes A, B, C to fill the pool. A and B together can fill the
pool in half the time that is required for C to fill the pool. B takes 20 hours more than the
time required for A and 14 hours more than the time required for C to fill the pool. Then
the time (in hours) required for all the 3 pipes together to fill the pool is ;

wf G8FoHH Jodmd8 A, B, C o3 Srd Fiped domyin 3. Co Sodd
QoHE A8 wIdde iy BHoHos® do DHTrIE A Hddsn B eo 80 v Fosd
DoNrwd. B Fodd 0308 ASLET dooho o8 20 Kobren, CEREI dSocho
508 14 Kobreo wSom &0Fotnod. & Sk fFépen 8O0 @ Fodod Qodm s
heds ddoho (Kobveres®)

(Ly 7 (2) 15 3) 18 (4) 12

Mohan is thrice as efficient as Srinu and completes a work in 40 hours less than the {ime
taken by Srinu. If both of them work together, the time (in hours) required to complete that
work 1s , \\% Q‘i N \%

3% E0B I Sorditey HASSo Hoardd, & SRET dSocko 808 40 Aotren
SES HHCHOS® wEHIV Y Do, T APEr $0% HITH wHID Y DapwE
9 docho (Hobes®)

(1) 20 (2) 60 3) 15 4) 25

N

A person packs sweets boxes of dimensions 15cmx15cmXx15cm in a basket of size
120cmx120cm*120cm. If he now wants to carry the maximum number of cubical boxes
having the maximum integer dimensions but less than the dimensions of the earlier boxes
Without I€aviiig aily Space unused, tic iitiiibei of such LOXES 1€ Cail Caiiy is

120 0.0, % 120 20.00. X 120 D0.20. e Ho a8 DFPS* a8 Sg8§
157%20.20.X1520.50.% 1520.00. $08r00H0 20¢5) DFP0 YT E. J FoBo Yodndo
550DEHOT wEE QOSEE GIBrANS Fode 0B E5y 5 Fodwr wod {63
rrod Fodw fo $0% T sd DFoS® qdyd 80K IHEH eoF oo,
& SEIHEOR airodd 1P dopg

(1) 1,72,8000 (2) 512 (3) 3375 (4) 14,400

From a circle of radius 12cm centered at O, a sector OAB of arc length 87 cm is cut and
from it a cone is formed by joining OA and OB. If the volume of the cone is V cubic cm and

its lateral surface area is S square cm, then V:S = .

O Bo@Snm 12 0.0 Tgargsn fo wf SEsn Sod 81 Do.ab THSn PEY Ko

. OAB o3 g 8%, OA 50808» OB od Soddo oo a8 #080hs drdrodomd.

& §0803) B, WIHBET0 V & 0.20. S0 TR @ Ee ITegdn S $00.a0.
2008 @apd VS =
(1) 44/2:3 (2) 9/2:8 (3) 8/2:9 4) 34/2:8

16-D
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A solid sphere of radius r is melted and with that material a solid cone and twenty two
identical solid cubes were made. If the height of cone and edge of each cube are each equal
to half the radius of the sphere, then the ratio of the radius of the cone to its height is

r mgzaogzmm 0§ TSR EOROTT HQS HEEES 28 W (He) FooHn S0k
22 BgpisrS A8 Dodswe SrcBd. @ fokl I€ 500K B8 H550 B,
woid 28HE go wg@*gfmeﬁ‘ HK08 HEPSo Bond, & Foke FgRrgHn HadA0
Do Hdgie AN

(1) 11:1 2) ~11:1

(3) V3:1 4 3:1

54.

What is the area (in sq. cms) of the shaded'portion of the following diagram in which each
side of the triangle is 14 cms and its vertices being the centres of three mutually touching

circles?

Behnsn Bng), E8Hasn FEY 14 20.00 ePdr, T sEInen Sk HEXE0
DYBOWET SHFdve Bosmen edy & Bod Hto Jod, 8 Johads pado
3Togo (B Ro.0ed’) Jod?

(1 7.3 @ 77 (3) 308 (4) 154

Let A be the area of the circumcircle of a right angled triangle ABC with £B=90°.
Let Aand A, be areas of the two circles with diameters BC and BA respectively. Then
B $¢ wowswdn o ol wonb's @gbzo ABC @) $88)gdn JTogo Aol ok,
A SBcs0 Ay 0 $&dm BC S00c5w BA ol argddoem KOAS o Hysdooen
3rogioodnsod. vk

(1) A2=A2+A3 (2) A=AA,
A

(3) A=AtA, 4) -&L:A
P 2

~17-D
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From each of the corners of a rectangular sheet of dimensions 36cm x 24c¢m, % small
square of dimensions 4cm x 4cm is removed. If the edges on the four sides are folded and
a box is formed then the volume of the box so formed (in cm?) is v |

36 R0 X 24 Do.do $0Srmofie o8 BEFHCFTED BH Bng), 198 oo
908 4 Do X 4 0. Fodw Ko wf DY) SHIPINOH Folodard. Ter
EH o fo wohods 28D &l DFT SoSrDBY, iy SAr&HBhs BT HSHdsre0
(08 Do..oe)

(1) 1792 (2) 2234 (3) 2560 (4) 2460

A4

[n a square of side 8 cm, 5 identical circles are placed as shown in the figure. Then the
radius (in cms) of each of the circle is
87200.00 ghadnie ef SSHERS®, & BrSHE0S SrHS o 5 B S BydSoowd

WO, WIPd w8, HFSo D), FgrgS0 (20.20.08)

TN TN

1) 82 2) 8J2-2 @ 4(v2-1) @ 4(\2+1)

W
o]

Two identical circles intersect such that their centers and their points of intersection,
form a square of side 4cm. Then the area (in sq.cms) of the portion that is common to the
two circles is '
DoSoTHED Bodkd DEEHITSS SysSwen, ¢ Fo@hwen 8% T PokS HohHes®
4 0.0 ghasnlo Wl SEHERe E)BOEL) PodoHEotwaon. © Bk Sy S0t
@b fo o BwY) 3Tego (¥.20..08°)

oz

(1) 8(nw-2) (2) 8n (3) 8n-4 @ =3

39,

The number of Positive integers x such that 2018, 1998 and x are the sides of a triangle is

2018, 1998, xen ®ha gheren @&”ﬁogé}goé S3Froosen xe Homg

(1) 3998 (2) 3996
(3) 4001 4) 3995

18-D
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An equilateral triangular plate is completely cut into 7 number of identical small equilateral
triangular plates. Which one of the following can be a possible value for n

2.8 DBoerdo |Behaold éo@‘gé.nm {ad‘sﬁéyé&m n i)él HBoerdo Behersed 'ggésamm
88080, & 1§08 TIS® B 1§ ITS wf JeS?

(1) 206 (2) 216 (3) 256 4) 296

6l.

The maximum of the distance between any two points of a unit cube is, in proper unifs
€ eSS DS50s D N Dok DodPe K¢y Ko K8Y Srdo, SAD O3S

(1) 2+1 Q) V3+2 3) 2 4) 3

N
§\)

'A train started at 9 AM from a station A with a speed of 72 km/hr. Another train after two
hours started from the station B towards A with a speed of 90 km/ph. The two trains are
expected to cross each other at 1.30 PM. At 12 noon because of the signals both the trains
reduced their speeds by the same quantity and they crossed each other at 4.30 PM. The
speed of the train, after 12 noon, that started from the station A, is

A o3 QA $008 &8 Geowod 72 8.50/K0t80 SK08® 9.00 am & 205e0B80d. 8 Dew
B o3 Ras $od A BYI% Koksd 90 8.5 3K08° Dok Kobrer Eard 200eRBd.
& Bock 3y 1.30 pm 5% 2.8 w88 LoD wod. SgrgimSn 12 fobesd S
swom & Bod By e I0Srwod 8 3mR) SA0WED, 4.30 pm 3G 28 T
5888 538D, A o3 Qas Sob 20HeNBBS Bew wod JKo dgrgimdn 12 dode
SLoT°Es

(1) 54 (2) 36 (3) 18 (4) 40

63.

4
A left his house for school # min late from normal time and travelled with —:-))- of his usual

speed and reached the school in # minutes early. Next day he left home, ¢ minutes early

8
than the previous day and travelled with — of his usual speed. He reached his school in

11
(1) tminutes late (2) 3t minutes late
‘ : t
(3) Exactly on time (4) T minutes late

208 508 A, SrSreor 20000 0500 ol 1 JB0Ted wodgor 205088,

. 4 ~
TS BRoSt — Sod DKos® I Hoento 1 AZNTeo Snoddr Iend. & ShTE

3
Sorss 0, DIES For 0B tASNT L) SNOGT 808 K08 WCHIBB & Srkared

8
3hos® — I Sod TEYS PHAireo BHIT wsdy dop 08 Il

V 11

(1) t Quen BJGo (2) 3t duen swoldgo
" O, A V L o,
(3) wgomr IHIODS JBoSrI8 4) 10 e eeBgo
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Two points A and B lie along a line at a distance of 120km apart. P and Q start at the same
time from A and B with speeds 40km/h and 60km/h respectively. They travel towards each
other and after their meeting for the first time, they then go in reverse directions and also
interchange their speeds. These speeds are continued in their further journey. After reaching
their respective starting points, they reverse their directions of travel and proceed towards
each other again. The time taken by them to meet each other 2nd time is

(1) 4 hours (2) 3 hours 36min

(3) 3 hours (4) 3 hours 54 min

A, B @3 3o Dochhen 120 8.00 Srdos® a8 H6¢0p taow. A, B o $0ob &3
D500508 P, Q o0 $580:0m 40 8.20/50¢050 3080520 60 8.20/K0tr80 3K08° 220538 8.
T WEOIDIE DFTED B¢k, T8 EOVS SHarE 570 HSree B0 BIFH
580, 0 IS HENGo Sk BBHFTYH. T8 $EHD Pairwos” & I
FTRoTEd. 0 woHeBsS Josnod BHEE) EHIE 78 B0l 884 SriyFR
B0H 28D JIYSE DEELH |00 DB, VoESFD TE 2.E0EL Eenom s
BB0FS) dH0%0. |

(1) 4 fodoen (2) 3 foboe 36 duexn

(3) 3 Kodoew (4) 3 Kodre 54 duen

65.

A person rows a distance of 12 kms in down stream and returns to the starting point. The
difference between the times taken to travel in down stream and that of upstream is
6 hours. If he doubles his speed throughout the above trip, then the difference between the
times taken to cover in down stream and upstream is 1 hour. Then the speed of the current
in km per hour is

28 358 BTTBF 12 8.2 HosrBod 80A wcHeBoS Sudh ST, edd s
B¥S* HaSrBdoth, S3808 83S° HErBowit HES SHaire Sy BEo 6 Kowen.
wdd &5 J6S0s BEPoR) WO IO PHoSTRSN Frg BISS Possd, o
S5E0E BFS® HES dHocire Sy BEsw 1 Kodr wond P IKs0 8.0./Kobod?
3

22 o 21 i 22
m 23 @ 23 () 23 @ 23

66.

Certain amount is divided into 3 parts such that those parts yields the equal interest after
1,2 and 3 years respectively at 4% simple interest per annum. Then the ratio between the
three parts respectively is

DES Joogdns Soardoarmenm D&, T DS 4% Béo THPS wrHSEE 2SS’
TP SEB 1,2, 3 So5G8sne $6aE Fod SGen dE5rso 9008 DM e S
e 65 Q!

(1) 6:3:2 2) 3:2:1 (3) 6:5:4 4) 9:5:3
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A man borrows Rs. 5000 at the rate of 10% compound interest per annum. At the end of
each year he pays back Rs. 1500 for the first 2 years. The amount he should pay at the end
of 3rd year to clear the loan (in Rs.) is

o€ 358 & 5000 oXo I 10% SESE Do TEpS ey SEIH. edd ©O
HodEdo DIBS 8. 1500 So&d BYoB. & erd aEyeoko 5078 HoSEBEoSE DIEI
wdd BYowSoI Jogo (Erraoes®)

(i) 3250 (2) 3190 2\ 4790 (4) 4290

2
The equal annual installment which clears the debt of Rs.7620 due in 3 years at 16«,;% per
annum compounded is (in Rs.) ‘
2
8. 7620 ol 165% WESG TS 3 205800 8HTIE BYoBIOVS J85>rS o

Tonm (SrroHest)
(1) 3430 (2) 2540 (3) 2700 (4) 2600

A tree is growing in height at the rate of 10% per annum. The present height of the tree is
1815 cm. The height of the tree 3 years back was (approximately) in cms

2§ SyEsn @0, 8 FOT 10% TN &R0, HRF0 & BeY RB0E I
1815 0.5 ®and 3 Hosg)ssne BEo & BEy S0E, IK (05rEm) 20.0.08° o
(1) 1524 (2) 1364 (3) 1325 (4) 1532 %}&é”‘

Two partners invested Rs.1,25,000 and Rs.85,000 respectively in a business. They agfeed
to share 60% of the profit equally and the remaining profit as interest on their respective
capitals. If one partner gets Rs.300 more than the other partner, the profit on the business
is (inRs) '

a8 TgPEoS” agsd arridgeo S &>, 1,25,000 508050 8. 85,000 enaad DT Ed.
5% eredn S0 60% S dErSor HohER, DAdS orerd) o0 ESI SR S&m
Fod Domr wdyodo BIETYH. T°0S° e lRrg0 $o8GI0E go8 doe. 300 2895
FobIYE, & TEIEoS A Ingo &g (BrFrohos®)

(1) 4572.50 (2) 4012.75 (3) 3825.75 (4) 3937.50

e - 67.
h
0
g
Is
3 68.
.
&
o
~
)8
69.
he . 70.
nd
i
z:i\fn
e,
der 71.
thz
3ot
&>

Let A and B enter into a partnership with capitals in the ratio 5:6 and at the end of 8 months
A withdrew from the business. If they shared the profits in the ratio 5:9, the number of
months B’s capital remained in the business is

2§ grifdrgdogo o A Sodas0 B énwo ARG 5:6 H00an 8 Jve dlard,
A grdsn $0d DEDOBIEDL. T eSS HoBK) ARG 5:9 wond, B &5
ELSSEAY a‘gﬁvdoé‘ oS Jve Joyg

(1) 15 2) 14 3) 4 N 4) 12 P
| © 21-D ;; Lr .u(«rgo e b Ll
Tog I 0T

e /r‘f'

¥&

AR 7R
)

e
A%
A

\ e


https://exams.aplustopper.com/

AS Booklet Co;de : D

A, B and C enter into a partnership by pooling the capital. A advances one-third of the
capital for one third of the time. B advances half of the capital for half of the time. C
advances the remaining part of the capital for whole the period. The ratio in which they .
divide the profit obtained in the business is

A, B 0oin Cen af agard orifdges. AIngo nedes® Soords Sods Samdsd
$08) 5°00 oM. BBoogo Dénads® Ho DeRwd HKo sTwo Frén toB. JADS
DR Cirgsreoo arén INeATE. 8 TEFE0S® FobS &rgrd) T8 DowHFISDS
I8 ’

(1) 3:2:7 (2) 4:16:9

(3) 4:9:6 (4) 6:9:11

~J
(O8]

A, B, C started a business by investing Rs.6500, Rs.8400 and 10,000 respectively. As
working partner A takes 5% of the profit as his salary. A withdraws his capital after
6 months, B after 5 months and C after 3 months from the begining. If the profit earned
was Rs.7400, then the total amount received by A is (in Rs.)

A, B, Coo a8 agirasns $603m 6. 6,500, 6. 8,400 $:0080 &, 10,000 Begadoos®
[E0QoDIE. Aedardd ST e (working partner) e 3ngo ergfsn Sod
5% o gdormr rochd. Trgardo FEooRS 6 JIve SHard A, 5 Jve $HFS B
000 3 Jve $dhad C 70 Dipahol IS8, SDKIH. Ingo wrgo &r. 7,400
©008 A ol Ingo 0y (rrches?)

(1) 2400 (2) 2760 (3) 2840 (4) 2655

74.

If the difference between the simple interest and compound interest for two years on a
certain sum at the rate of 10% per annum when compounded half yearly is Rs. 124.05
then the sum is (in Rs.)

§08 Foogioop Boky JosiSsne 57erdd IO 10% S§0en TP ol WS
$o8050 BFI0SAHEL0SEEFD 5§ B8 08 dForr Fod BESEe &g BSo & 124.05
wowd, & IngLn (CrroHes®)

(1) 8000 (2) 6000
(3) 12,000 (4) 12,400

75.

[f an amount doubles in 5 years at compound interest, then the number of years required to
make it eight times at the same rate of compound interest is

BESGI0 Fod Ingso Do) THEIL Hiy dochSn 5 HosHHTren wond wd
BESEOL TS @ Jogo VNG B THEI. 2 DodgsIne Dowg

(1) 20 @) 12 (3) 18 @ 15
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76.
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=== | S

A person invested his money in the three schemes P, Q and R. The amount invested in a
scheme R was 150% of the amount invested in a scheme P and 240% of the amount invested
in scheme Q. The rate of interest he gets from schemes P, Q and R are respectively 10%,
12% and 15% per annum. If the total interest accumulated is Rs.3200 for an year, the

investment in scheme Q is (in Rs.)
o S8 855§ 4 E850% P, Q $0050 R &d Srthy HTed’ domd. w8k -

R 568508 oS 0850, P 2585008 & 0oDS 0E503S® 150% 500080 Q HEES0S
&S00S, BngS0sS® 240%. P, Q, R HE8S00s0d é%‘éé&g $&dm oo 10%, 12%
S08050 15% 0H&r éoéé&d&oé& @essy OB ?f)é &, 3200 @wééjé& Q HPEdn
o i IS Judo: (Erdodoes?)

(1) 12,000 (2) 5000 (3) 8000 (4) 20,000

17

A person invest certain amounts in two banks in such a way that the simple interest from
one bank at 10% per annum for 5 years is equal to that from another bank at 9% per annum

for 6 years, then the ratio between the two amounts

2§ 558 A0S Bweo Bok ergode Hod, G wrgotHotd Fd> 10% $§0ew
TIPS 5 oS80 P08 3§ 500050 HHBRWE 2°gosID0 DT 9% S§L0
TS 6 Josg)iness Fod 5§ ddrdo vty oBl. © Qs Iwere Ddghe
A

(1) 10:9 (2) 9:10 (3) 27:25 (4) 25:26

78.

i 961

T 2 3 4 15
Thevalueof 173 72 T2 72 T 7T T 9232 B

1, 2 b N 15
1232 3252 5272 7292 7 29231

@wé&, DenD

30x32 120 o L o 2
(2) 961 @) 961 “) 961

79.

3+\/6 x4_1
If x = ———— then =— =
T S5B-2V12-B244507 T x4

x= 3+\/6 WONB 5‘————4 1
5\/5—2@—\/3_%\[5_6 C x4l

PN

2 4
1 1 @ 3 3) 3 @)
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Each mango costs Rs.5 and each orange costs Rs.7. If a person spends Rs.38 on these e
two varieties of fruits, then the sum of the number of mangoes and oranges purchased by
that person is

20.8,8), Srdod Dok BB &r. 5 Sodasw w88, TBomdody pbk &r. 7. a8 358
Ood 85"w Hodap 6. 38 98 VR, ©dd §8) Srdoddod Sodokn Tr8oadod 3odo
éomg

(1) 6 @) 8 3) 12 @ 3

31.

1 1

1
Ifx= Y= z=
Ef’t \/1—3_3, \/'7—-\/5’ J—z—(\/g_l),then
1

. B Ty
x:\/ﬁ—z’y"ﬁ—ﬁ’z—\/ﬁ(ﬁ-l)

(1) x<y<z (2) y<z<x 3) z<y<,x 4) x<z<y

©0oN8, VI

82.

The smallest of the differences between the perfect squares lying on either side of the
least positive integer that is divisible by 3, 4, 5, 6, 8 is

3,4,5,6, 8 0B grfodd 80 o8 dowgs aZYo God Doyrg SgSne $&g
B0 %0

1y 25 (2) 35 3) 15 4) 21

83.

If x=+2+3/5 and y1is such that xy is rational, then a value of y is
x =2 +35 0hsr y 038 xy LSS0 BT0gnod dopg WoNB y Dok wE Jend

M (B5-+2)(4+2325+5¥5) @ (-2
0) (B-2)(2¥5B+5%5-4) @ (F-a)(4-2T+5%)

84.

If the mean proportional of b, ¢ and the 4% proportional of a, b, ¢ are both equal to 8, then
abc =
b, c © @& Hgghdn HBXW g, b, c © TR VIoFSoen Bodr 8§ § VTS0

wond, wdydd abc = d""m'gj\g;&

(1) 29 @) 27 (3) 25 T @) 28

85.

The greatest number that exactly divides 513, 1134 and 1215 is
513, 1134 $08050 1215 o0& gnig)éon’ Ao 185 Sopg
(1) 9 (2) 54 3) 27 4) 81

24-D
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86. Ifx=1+-l—+—l3—+...ooandy=x+~1-+£+—1—+—x—+—1—-+...oo,then
2 " g 29 18 81 162
1 1 | 1 x 1 x 1
x =14 —+—5+...00 500D x4 —t—F—F—F— Tt ©0oNd, YIJR
=log ot y=X*t5T3718 81 162 3
(1) ==Yy 2) x=5 (3) y=x 4) x+ty<l

87.

88.

89.

The number of ordered pairs (x,y) of positive integers satisfymg the inequality 5x+3y < 151s

wosrsd 5x+3y<15% S@DH0B 8 JGOsTO ESoosomeo (x,)) © Homg

(1 4 @) > 3) 6 @ 7

In a class, the number of boys who can swim is one more than the number of girls who can

swim. The number of girls who cannot swim is one more than the number of boys that

cannot swim. The difference between number of boys who can swim and number of girls ‘

who cannot swim is two. Then which of the following is true?

(1) The number of girls in that class is 2 less than the number of boys

(2) The number of boys in that class is one more than the number of girls

(3) The number of boys and girls in that class is each equal to 2

(4) The difference between the number of girls who can swim and the number of boys
who can’t swim is 2 5@‘7 .

28 S8K8S® SEEORS wrend VoRg, &EKDAS OB dopg o8 288 Qé\)b;’). &EB .

O DoV, 558 wreod dopg §08 2,883 Q8D SHEKORS rend Dopgs, &HEE
90 Homg8 Sodg Ko B0 Dok, wRjko & 8od TS’ D& DEgS0?

1) = SEK8SQ O Jopg, erend dopg §o8 Bod $89D

Q) @ S55BS°Q el Jopg, e Howmg 808 288 Q8D

) & SEEBST erend VoG 458050 e Jopg, 2,87 8,8 Bok8 dIrSo

(4) &&SEOBD e dopgs, 5589 e dowgd Sogiio Bo Bokd

A book costs Rs.35 and a pen costs Rs.20. A person has purchased less number of books *
than the number of pens by spending maximum amount out of Rs. 350, that he has. The
amount left unspent (in rupees) is

2§ Do I & 35 $58050 wE He 0 & 30. 2.8 Sg§ &S 5%5:6356& &x. 350, @“;‘méef
KonS0m PEY) BT S0 dopg EoB &89S SopgdS’ FOTSIMORS . & PBWHT
0AOS PBNY (8ues*)

() © 2) 5 (3) 10 4) 15

e

25-D
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90. Which one of the following point does not lie in the region bounded by x+y<5,
2x~4y>land x<y is :
8 808 DoOYS® B, x+y <5, 2x—4y>1 H008050 ¥<y o H0GHS @oéoé‘
GOB?

/(

1) /3 5 11 .
(D (‘“1-57"'-’g/ 2) / "‘5':7//} 3) “;@*15} @) (3,-2)

91. I AgivesRs.30 to B, then B will have twice the money left with A. If B gives Rs.10 to A,
then A will have thrice as much money as is left with B. Then the amount A has initially
(in rupees) is '
A, G 30 0% B 8wy, ASE 20803 308 0oy B 8OA wotrkd. o 1020 A8
B a3, B 3¢ DADS B8 SordoBen AEOA odrdd. VI ASE Fend Heo raony

(Seneres?)
(1) 90 2) 32 3) 62 4) 60

92.  The number of leap years in between the years 2018 and 2126 is Qe
2018 8as0 2126 Sosdsive Higho Y vosEEHNe Sops o
(1) 25 2 27 (3) 26 (4) 23

93. If 15% January was Monday in the year 1952, then the last day of that year was
(1) Sunday (2) Monday (3) Tuesday (4) Wednesday
1952 $05&)8520e5° 2858 158 HoaEh00s, e D0IEEI0S Y DH588%2
(1) waTssn  (2) #HT6sw () ofdmssn (4) mdadso

94.  Which one of the following is not true?

(1) The calendar for the year 2003 will serve for the year 2014 °
(2) 14t December 1998 was Monday
(3) 15 February 2012, was Wednesday
(4) December 31% of the year 1600 was Saturday
€ 808 TS’ A8 DegN §H?
(1) 2003 dos8)80 sSodd> 2014 L0IHT° A8 H81%0B08
(2) 1998 &Foatn 145 &80 FSoado @onod

(B) 2012 @58 15 &80 andardo eood

(4) 1600 do5)50 dFowdd 315 ebmo §do ®OoN08

26-D
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)y 95. In 12 hours, how many times the hours and minutes hands of a clock will coincide with
each other?

Pt 12 Hobos® KBRrgos™ Kot 5000 AZ0Te H0eges LETIE HTEL DR
D85%r (25D HTEL) wolron? ™
(1) 10 2) 11 3) 12 (4y 13

= 96. At what time between 3 O’clock and 4 O’clock will the hands of a clock lie on a straight

A, line but do not coincide?
ly , (1) 3hrs 49m Ssec (2) 3hrs 43m 38sec

(3) 3hrs 45m 12sec (4) 3hrs 55m 53sec

KBoSrE0es® 3 S0ba%0 4 Ko R0y 9 H%0030sS® TR Swenen LE8EpeS® Godr
LETIS J05ES J8eIDou)?

(1) 3 Kowe 49 e 5 8K () 3 fowe 43 dies 38 WEK W
- (3) 3 Kowe 45 A 12 288 (4) 3 Kotow 55 A 53 208X

97. A clock is set right at 8 AM on 1.1.2018. The clock gains 15min in 24hours. The time on
the clock when the actual time is 10 AM on 4.1.2018, is (nearly)

= 1.1.2018 & 2§ K&csrEsns 8 AM ¢ 2B YT, & KBOSPES0 24 Hoted®

' 15 DBmare HHerd) v8Som rdized. 4.1.2018 8 s 53 10 AM e502035:33¢8,

............

o KBcirEoR B h 8o (@ERm) W= § % ~

(1) 1045am. 2) Ham. V% N
- (3) 10.462am. (4) 11.05am.

. 98 A well of 4m diameter and 35m deep is dugout and the excavated soil is transported away
| _in arectangular parallelopiped shaped truck with dimensions Smx2mx=0.5m. To avoid spill
over during transportation only 80% of its capacity is filled. If the loose soil occupies
20% more space while filling into the truck, then the number of trips required to transport
the soil completely away from the place of digging is
4. agdo, 355, S wf SrEJ GAg, BIgT HHI 50630 5 X250 % 0.5
H0S5reole 28 &g)ﬁéod@"s*é S rods Holor wod Wiy S’ S8 §'EE dare B,
Sareres® Sofp Sod Dol T Fggod’ 80% Sori@ao dondsn BRI
s B0 o8 S (loose) ™ Go&ktro 2 L5y,S° 20% wE5Y godndo B0 R, 1E5D
- @odo ook © 583 468 38 Sorear DOHTAE WHHEDg L8, 83D dowg

(1) 528 2) 75 (3) 64 (4) 132

27-D
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If the volumes of a sphere and a cube are in the ratio 97 : 2, then the ratio of the radius of
the sphere to the edge of the cube is

28 o Bo¥), 0w a8 MSo R, IBoBreadner IN: 2 ARHYS® G0, & FYo
0T, g0 Hobain @ oo Fwg) wowd Ko VRN

(1) 2:3 2) 32 (3) 11 4) w2

100.

The dimensions of a rectangular plot is 40mx20m. A path is formed across the plot along
the length and breadth with a uniform width of 2 meters. If the cost of forming the path is
Rs. 500 per sq.meter, the cost of laying that path (in Rs. )is .
a8 BEBOHIRTEY Yoo Foder 4000x202 e RO0 506geS” 2 Mg BITS $ag5gerso
(ad@m&)ﬁ@ a8 e:.wéoeéa © Poo D&Y, denye Sowd BT E. & Wb IoHEds
%5.20. 8 &, 500 PEY @cmé & il ST 08 oddy p) B8 §8 (Eriws?)

(1) 58,000 (2) 56,400
(3) 60,000 (4) 62,000

Directions 101 to 110 : In the questions numbered from 101 to 110, a sequence of numbers or
alphabets following a specific pattern is given. Fill in the blank with a suitable entry from the
options that foﬁowq the same pattern.

101 S0 110 588 dSS © 6 BHos® Sopged® Bor sof viTros® 6B 28 V8Y SrB8R
(QoD8rd) BB Fewven aSwdI00. 20 TR0 © JHIr @9263:0803 $8330S

pNEos’ VQSJ""Z),,_ w %&%‘ \07(50‘/
&

" e ol 28 /"\C,‘/ '{/
101 10,30,¥8,130,
(1) 1955 = @) 198 (3) 212 4) 222
102. 314,39, 84, '
(1) 165 (2) 159 (3) 155 (4) 134
i@g. 1%" Bg 3 9—!— 9 17§’ -
3 6 5 ' 3
28= 30— 3= 322
(1) 287 (2 302 3 >lg 4 27
104.  14,78,252, 620,
(1) 1290 (2) 1080 (3) 960 (4) 740
105 140,20,
(1) 42 2) 35 (3) 28 4) 37
Ssran 28-D

\‘Z’l/ wL AN 4N @1

106.

107.

111

112.°
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o
of | 106. ABC,BDF,CFI DHL,
| (y EO? (2) EIN (3) EKP (4) EKO
L E T _— 2. Z br Q
go. 107. "B,CEG,
DI e o DT 3) K 4 L %
108, AZCW,FRIJK, ' p/
b oo w3 g w Y
| 1) PD¥ N (2) OB (3) NC 4) MA
ng TeE 3 TSI T T
e 109. BCE, CEG EGK, GKM,
| ar KM SR . 42) KMO (3) KMP 4) KMQ
" 110. “AD,LP,
28 n Y @) W @) T @) R

Data Analysis : $&ro¥ J3%e0
The diagram below shows the enrolment of students in a school in different years, from 2014 to

2017. Based on the information given, answer questions from 111 to 115.
& 1808 HtasnSo 2014 ook 2017 S5 2.8 FETOS® STrBS ITgRHO S0Py BorB048.

. & BEmGo wEssom 111 foo0d 115 565 fo BHo SSredo aiggod.

the m7/////////////////

o 0| 777777777
‘ o[ [/ 77777777777

i 7777777 —

] |

i i i
Ll

o 50 100 150 200 250 300 350 400 450

: 111. The total number of students enrolled in the years 2014, 2016, 2017 put together is

'2014,.2016, 2017 SodHores’ SAr3I Sogo TR Doy
(1) 800 (2) 850
(3) 900 (4) 950
112. The percentage increase in the enrolment of students in the year 2017 over the year 2016.
- 2016 H058)850808 2017 ‘éoa’ae‘é&doeb‘s Z)m”gdc%e S35 DG Fdo
' : (2) 100

(1) 80
‘ (3) 160 (4) 200

29-D



113. The ratio of enrolment of students in the

together is

20155 Qo5& BSes® I3»BS Dwgd’go o

AS

5O I[rBS ATghe Jopgdo Ko IG

(1) 4:5
3) 54

)

8:9

4) 9:8

Booklet Code : D :

year 2015 to that in the years 2014 and 2016 put

114. The percentage increase in the enrolment of studen

OF 50 Sg5ee* EIAN g
(1) 80
(3) 150

5@30 ‘éogpges‘ 5&% FEo

2
(4)

100
125

ts during the given period is

J—
e
L

. The average of the number of students admitted

e %ﬁeﬁégé@eﬁ“‘ $3r3S ;’)a‘g%o den Sowg
(1) 250 @) 275

(3) 300

per year during the given period is

4) 325

The following table shows the sales ofc
2013 t0 2017. Using this information, answer questions from 11
S8od DYE 2013 K008 2017 585 o o
RrDR08. & SSrTEo emssom 116 Qoo

ars of different models b

Y a company during the years
6 to 120.

D O 7:3?5563 S ($850) e 58 Sopgio
& 120 38% Ko RHOH dsreso 830,

| Year / Model A | B C D E Total
DodBo/E80 f 3080
2013 | 88 | 166 211 44 255 764
2014 } 200 108 176 65 185 734
2015 168 146 165 102 194 775
2016 175 120 138 207 | 145 785
2007 20 | 194 30 T s 305 | 1005

116. Inthe year2016, what is the approximate

number of cars sold in that year?

2016 $ SoS#Es0es® ©InS C 88350 578 Hop
d ¢ o

éoa;,geﬁ" QHTET dodFreso?

(1) 16 (2) 165

3)

17

percentage of sales of cars of type ‘C” in the total

$ 8 JoSEKoes* ®15 Ingo 5°¢

(4) 17.6

[17. During the given period, the car model that has re
B8 sSS5esT, WISt Koy 58 TeQ)

1 A ) B

3) D

gistered highest growth percent in sales is
S3rd VLK) &6 Ssro (3rdds)

(4) E

30-D

118. 7

§%0, 2014 So8050 2016 QoSoren Bo&oddes®

Direc
121t

121.




58365t

total

118.

AS Booklet Code : D

The year in which cars of model ‘D’ registered highest growth percent in the sales, over
the previous year is

D $Hr>(BrES) 5°8 wdFrodt, wodd §do Do BosoB KoY STEo SRS
DoN&so

(1) 2014 (2) 2015 (3) 2016 (4) 2017

119.

The year in which the company registered highest growth percent in the total sales of cars,
over it§ previous year is

Ingo 57 w0 Fe Jog, ©od50 (BodE HoSHBooB KOQ S5)B TS0 33rBS HodhHdo
(1) 2017 (2) 2016 (3) 2015 4) 2014

120.

The approximate percentage increase in the sales of Cars of models A and D put together
in the year 2016 over the year 2013 is

2013 HoS8)50E0B 2016 DoS&)Sos*, A Sobadn D S8 (BrsS) 8 Iodo vise
Dopgs'R ) FEo

(1) 295 (2) 240 (3) 189 (4) 150

Directions : Fill in the blank with a suitable positive integer in each of the questions from

121 to 124.
srES 1 121 So0d 124 $8% Ko $8 HHS &, DBGDI B8P ToESs0S’ Qodod.

121.

S R TR PR T B

ERER AL
15 18] 1416} —| 6|
1 1 2 2 3) 3 4) 4
= .
‘L’%‘S’— d
/8 b
‘é\?:/, ?%L
@ 185 %
%
1t
37

4) 252
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o

sqr

167 — ~ w
(2) 431 (3) Se61 (4) 591
125. ngats 1 to 6 are marked one each on the faces of a die. 3 different positions of a die are
given below. The combination of digits on the faces opposite to each other are.
w8 FOE SI0E) (BB Sopdn 1 &Hod 6 S68 Ho ©o8us”® 28l Hgow . & 33"75)5
gy, 3 IPHHeoen & BIHSS 23@EID. & FOE VG Snpined 48 s T
HoET K50, 3¢
3 3 4 M
6 | 2 s |6 5 |3 W
or
(1 Z5),1,4),6,6) 2) (1,49,2,6),(5,3) L
) 2,5),1,3),46) 4 4,6),2,3),6, 1D CJ( |
- 126. All the faces of a cuboid are painted. It is cut by planes parallel to its faces to form unit
~ cubes. If the number of cubes having all unpainted faces is 1001, then the dimensions of
the cuboid are
0 8YS q)ocao Sog), @) Soupdness o DT, & éﬁcéwaso ol Soogrerdo
eo'ﬁrfoédot? &8) IDdorod® ohrdE Daren deééoéaan* podotwdod. & Dot
eNIPr 0B e domg 1001 wond, © ég)mzso Roof), S
(1) 13x9x15 2) 9x5x11 (3) 77x91x143 (4) 26x18x30
. The minimum number of different colours required to pamt the surfaces; of a cuboid so
that no two adjacent faces are painted with same colour, is
2.8 88 qniéfm R, Sogresd 9 Bodkd es8) (@é&@éb) Sogre e 60113 B0t
Soihd 3053;55:‘5@ EDGomr seSeds 33 Sorbe Sopg |-
() 6 2) 5 3 2 T4 3 '
128. In the following figure, each cell marked with a symbol is a face of a cube. If the surfaces
‘are folded to form a cube, then the faces that are adjacent to the face labelled 6 are
& B0D HLOS'R 2.8 HTEEENS’ HODS BB K&, 2.8 Wwiko B 2§ L) BenYHod. 3
& Sutno w wo odhghin HENB, ‘9B HBoUNES Lgrdd sdder Ho ’
Jooaren.

Y]

TEHeL

(N

o
e | B
14
d

(f) 405,15,‘)’.,5 (2) B:Y,E,P (3) Yaﬁyp’a (4) S,p,a,ﬁ .
' 32-D :




| il

AS Booklet Code :| [}

Data for questions 129 to 131:
129 S00& 131 5% Ko WHok derodo:

The principal of a college scheduled the following six lecture programmes one on eachdayma

week, starting from Monday to Sunday.

i)  Management skills ii) Decision making
iii) Motivation iv)  Soft skills
v)  Faculty development vi) Quality circles

It is decided to organise the lecture on Motivation immediatly after Faculty development.
The lecture on Quality circles is to be scheduled on Wednesday and it should be followed by
Soft skills. The lecture on Decision making should be organised on Friday. The lecture on

" Management skills and the lecture on Soft skills are to be scheduled with a gap of two days i

which no lecture is to be scheduled on one day (Saturday is not that day) just after the lecture day
on Soft skills.

o8 oo RYFS FHoTdes Indernd sHFE0 S8 S al TOys & ($ob
wored® et &ITGOSNOD Qo SBI Qoo

D Qe PRrgsnie. i) dgomo BRFHH0 HITN oy
s AN k7

i) (@8 v) ¥R 98 Cal %&Q:;;

V) orghE 0Nl V) wef wyg Ne T

Orrghs ©RSG B3 ©oTsnd: BHBoL (b BoDY EBTEHIND AGEOEIELL )
DdgononT L. 508 1B &) SDIFROW 20580 AEGTroT D HHOIR &8 H0od ¥ IS,
&HTgd0 o d. Agao B2 %0 KBoDY BHT R0 HET G0 ABGToT . Qe Doy

-

58030 @‘% YD éyéa“géaéaae Sody éi)b‘&)}’:)@m Do 66@3@; SgRB GotdLY QR0

» Dok Swod P MG GHIFHoIR N8 S GwhHTgdo Bhoow S0LEITIB
(e38% 4QT0 5°T°0) H:@Qg\fgfﬂ“"%g
129. On which day, no lecture is arranged in a week? e -
(1) Tuesday (2) Sunday (3) Monday (4) Wednesday E‘:r
TG0t A e, edIrgdo (‘i)d‘si’ro:;ia)cﬁe”ﬁcia? _—
(1) HooKgardo 2) &G0 (3) ¥;dardo (4) =wgado
{ 30. How many lectures were organised between Quality circles and Motivation?
(1) . One (2) Two (3) Three (4) Four
Db HoBosn 5508 ¥ G) DGy ) GDTGOB0W QEgarotwdid?
(1) «8& (2) Bo (3) oo 4) T
131. The lecture on Management skills is to be organised on
(1) Friday (2) Tuesday (3) Saturday (4) Thursday
Qe SEOLISSESENES $0w0oNS BHIHI0 @6‘333“01559_3?056%3
(1) Bgado (2) DooK¥ardo (3) #Ja°8o (4) hdado
'33-D .




Directions for question 132:

The second figure in the first pair of problem figures bears a certain relationship to the first
figure. Similarly, one of the figures in the answer figures bears the same relationship to the first
figure, in the second pair of the problem figures. You have to locate the figure which would fit

into the blank space and give it as your answer.

132 @& Jrus: ,

BBRgHL0 $oBO INEE 2ot Ho DS OS® BoES HBZ0IL B0edDe 50 wE A8Y

HowoBEn Kok, BT, saredSnedocd eE dédn DBgHL0S A ToES 238652

FEBHG0S VBIES Ho00FR) E08G0B. g FHBS® HBHT & HLOT EWEYI, I
D dIrrdomr adgod. '

132. Problem Figures / $%50&rg Héadnen

VI

Q-

Answer Figures / zsie0 HE0830e0

(&) (B) © (D)
() B @ C 3) A (4) D

AS Booklet Code ¥ D

133. Select the related figure from the answer figures that fits with the blank space of the
following analogy, and give it as your answer.
& (808 FErdgEn (0T0E)S Y g &’ HBHB 2are HLSPOS HOGS Jdowod
58505 o€ BY, TA W Idegrdom atgod.

Problem Figures d0arg HéS0oe0 1)
3 — -
Answer Figures o720 H€0:50000
A) ®) © ®)
1) B 2) C 3) A 4y D
34-D
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Based on the following sequence of numbers, letters and symbols, answer the questions

| 134to0 138 :

wHoso BSrSo adgod.

& 1808 aBgdI Jog, ©g8 0000 dosere wlHEso wrrddomr 134 $08 138 $8%0 Ko

0 A3B7CSQL§P4IQM-2L53249DE1XYf6. V4
134. The number of letters of English alphabet that are immediately followed by a number or
immediately preceeded by a symbol is 2 . §
383063 ST $o8SD0 B S Snodd Joggfio Roh VESETOS0EO Vi
domg: a ° ' : ) '

(1 5 @) 7 3) 9 4) 10

135. The number of symbols either preceeded or followed by a number is
g EgH0S S B0 SHTd o Doy KOAS Hodsgdne Doy

(1) 4 @) 5 3) 8 @ 7
136. If all symbols are removed from the above sequence then the entry in oth position from
right is

& olEs0 SHod éo’ééﬁwe&)ﬁpéﬁ&) FohoRd SHTE, BEIY Loo0d 935 3@*’;‘65533
3080 Ko WoIdN .

(1) B 2) P (3) 4 4 L

137. The difference between the number of letters of English alphabet and the number of

numerals in the sequence is

& 3ESS0S808 Ko @0l wisSnes') viorY Sopgso $30050 @wosew Do
S5 Ko BES®

(1) 4 ) 6 3) 8 4y 12

138. The 14th element to the left of the 6th element lying to the right of ‘B’ is
B & %8398 Ko 65 Sarosiossd AEHIHS do 145 Soressn

1) B 2 C 3 @ “4) 3

. Directions for the questions from 139 to 145 :

139 $508 145 585 Ko RHE s
Identify the odd thing from the following options and write it as your answer.
& 8ot QS mﬂgé:ﬁneﬁ‘ DADS TAS HOTFOD pDESNDH EAD saranodn a¥god.

139. (1) Earth (2) Mercury (3) Moon (4) Venus
(1) «(8)s - (2) $o(8)8ogd (3) S (4) 288
140. (1) Awareness (2) Goofy (3) Lore (4) Cadence
(1) ©3(5)3% Q) &% (3) %6 (4) 84S -
141. () B,C 2) KM (3) Q58 @ VW gy
T2 e 35.0 Ve s o
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142. (1) Asparagus (2) Carambola (3) Fig (4) Peach
(1) ooy, @) ggowe @) Mg B39
143. () ABEC (2 DIFO. (3) UGAH (4) EJIK
ANt A ks » X
144. (1) Beftterment (2) Elevation (3) Emendation  (4) Tmprovement
(1) BL(E00sS  (2) JOBAS (3) aB0RAD (4) aSoEras0os
145. (1) FAO 2) ILO (3) SAARC (4) WHO

In questions 146 to 148, choose the option containing the odd pair as your answer.
146 So0d 148 588 Ko PHOS S m&gsvoé" SEFod 28D D dIFFTEr JobE VeHob.

146. (1) Boar:Sow (2) Deer:Fawn (3) Horse : Foal (4) Swan:Cygnet
(1) &6: D (2) &os:as  (3) 585 FS  (4) TS QS

147. (1) Hurricane : Cyclone (2) Mist:Fog
(3) Moisten : Drench (4) Prick: Stab
(1) o833 : RES (2) Y :ah
(3) SroDBS 1 @oH 4) ®5:TH

148. (1) Bees : Apiculture (2) Birds : Aviculture
(3) Fish : Pisciculture (4) Paddy : Horticulture
(1) &% : 208y (2) 2(5)&) : 28RS
(3) DR : VRIS (4) >gd : 53(5)&8en0

Directions for Questions from 149 to 153 :
Select the suitable entry from the given options that fills the blank in the following analogies:
149 %08 153 565 Ko BHoss s @ &b Frrges’ &8) oo, dPFo’ v
oSt HORS TAY AXNFR, Srootod

Ve Qg W80
149. AFHE : TRMO :: .UDFA &7~
‘ S~ %9 (1) GIKO (2) LPRU (3) IPRO (4) AIVY
LS50, 3265 : 4376 33 4673 : “‘
(1) 5784 Q) 5487 (3) 6478 4) 5362
- e 2 BT
151, IMPLICATE : INCRIMINATION :: EXONERATE : v N:aq@g
¥y ! ~F
(1) FRAUD AL;&,,\L ¢ (2) CRIME (ﬁ}: c 57
(3) CHARGING “Se\ (4) ACQUITTAL 0k b
52 Sl6: s 14006 WO ®
(1) 343, 2) 729 (3) 2187 (4) 3246
TR ﬂi"y AN
153. LIGHT : CANDLE :: :
(1) EXERCISE : STRENGTH (2) ENERGY:COIL
(3) AUTOMOBILE : ENGINE (4) POWER:BATTERY

36-D
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In each of the questions from 154 to 168, a question is followed by two statements I and IL

Give your answer as

(1), if the statement I alone can give the answer to the question.

(2), if the statement II alone can give the answer to the question.

(3), if the statements I and II together are necessary to give the answer to the question.

(4), if the statements I and II both are not sufficient to answer the question and additional
information is necessary.

154 3000 168 58% Ko ©H8 HHS'Sr o8 BF), T o Todd PIVT e L Il o qonyds.

@BEse [ 8. SrEd BH% axnsgrond (1) ed,

B35S0 I & Srgd GH% 2TDSHONS (2) o,

B350 L T o §0D Srgd BH% sadsgond (3) ©d,

©B5sS0 I, I eo BoBot3d SkoFam Rofod wisy dSrado Bow @H BT DIBEFS
(4) ©d D Jdrerdomr Sc0d

154. Who is the youngest among A, B, C?
[.  The difference between the ages of A and B 1s 3 years.
II.  Ais4years younger to C. 2
A, B, C 0&® ©0&0808 Q) 56? 1&%’ : =
I ASbako Bd@ng, Schige ey 8650 3 gosdoes - <
I C&o8 Asrenf dodg)dnes DT v

155. If numbers x, y, z are all less than 40, how many of them are positive?
Domgen X, ¥, z oo ©l) 40 508 DHIB, TES* Q) FTEsre?
I x+y=46
I x+ty+z=80

156. What is the value of ab ?
ab Sg), DS Jo8?
L a+b=9
L |a-b|=5
157. What is the volume of the cone?
L  -The base radius of the cone is numerically equal to the perimeter of the square ABCD.
II. Length of the side of the square is 4 cm.
Fo%0 R0E), WSH0Srw0 Jod? X
I.‘ F080) R, eﬁrs‘gﬁgm éom‘gé&éom ABCD 56050 308), zﬁoéaegg"@ééa
ddrdo Jaa= oA
I S8R50 Q) o Fd 4 20.20.
158. What is the angle of the sector at the centre of a circle?
'L The perimeter of the sector is 16 cm
0.  Arclength of that sector is 10 cm
5)8808sn 5§ © DL S Feod? A
I gt Gng, sigfed 16 odo. S
L o 25dH odso 26 10 200.0. i
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159. Is the perimeter of the rectangular plot more than 65 cms?

[ Itslength is less than 16 cm

Il  Its breadth is more than 10 cm

BEBHEFTEY Fbd DoepFed 65 20.20. §08 J)&Z,J“?

17 oo DG 16 20.50. 08 895 Qe 7\5(*

L o 3de 10 20.20 808 QEYD (C/Q'

3

160. Is the slope of the straight line equal to 5 ?

L The straight line is passing through the point (3, 5)

I.  The straight line is perpendicular to 5x -3y +4 =10

3

HEIp DooE), Trew 3 ©HSom?

I & 3883 (3, 5) Dot How F&od.

I e 38%8p Sx—3y+4=08 woworr™ &otood.
161. What is the sum of the first 21 terms of the AP?

L The common difference of the A.P.is 3

I. The 11" term of the A.P. is 31.

©0EEEH S08O IndE 21 dre Ingoos?

L »od3Ed Sng) dmrosdsn 3

I 8@ S0k 115 H&s0 31
162. Is 10, a factorof n+5?

I.  nisoddanddivisible by 9

II. misevenand divisibleby 5

+ 5 Rg), soderroddn 10 ey&on?

L n@ddopg So0asn 93 erhoeddo

[ ndBdopg H0BaH 5 B Aot .
163. Is the positive integer m odd ?

L m? + 2m is even

0. m?+miseven

m oS GSYTossn Bodopg wYson?

L m? + 2m 2.8 é@éo:pg

L m?+mef ISIISISE NI

. What is the value of Cos6 ?

Cosb Qg Dens Dod?
L SecB+tanB=35

- 25
14+smn6=—
IL 3
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165. If the A.M. of 4, 20, 40, x is m, then, what is the value of m?
I —-5=8
X
I xislessthanm

4,20, 40, x © &), WoEBEgHD0 M @o0SS’, m Jend Qos?

1 Z-5=8
X
L x o388 mia) ﬁ@&

| - 166, What is the volume of the sphere?

I The surface area of the sphere is equal to area of the circle with radius 5 cm.
IL  The radius of the sphere is equal to the perimeter of a square.

Fdo R00E), WXHDSr0R0s?

L o Bn¥, eHddo JToghn 5o, Tgrgin fo 5 Drogindt ddrdo

I fedn Dng), Tgrgdn, o8 BHBR DoepFodd JArI0

167. What is the range of y ?
y g, T5h D057
L 13<x+y<19
I 4>x-y=>-5
168. What is the rate of compound interest?
I Principal is Rs. 1200
.  AmountisRs. 1323
zﬁ@éé% Bén Joe?
L eodes &. 1200 -
I Doodgo &r. 1323
Directions for questions from 169 to 174 : For the Assertion (A) and Reason (R) given below,
choose the correct alternative from the following as

(1), if both (A) and (R) are true and (R) is the correct explanation of (A)

(2), if both (A) and (R) are true and (R) is not the correct explanation of (A)
(3),if (A) is true but (R) is false
(4), if (A) is false but (R) is true
169 %08 174 36% o HHOL: B PHS’ C0Se8S A)BEc0 (A), o8z (R) oo §ob
aii)w\_s*oé“ I8y
(A}, (R) &0 Bodsr dadon 508050 (A) 8 (R) 58308 D58 wond (1) e,
(A), (R) &0 Bodr dazoo Hdcs0 (A) & (R) HOGS DS 5% BoNB (2) o,
(A) dedn, 52 (R) 85y wo0d (3) o,
(A) 853, 520 (R) dazdod @008 (4), ¥ I8)F5oB0
169. (A): Thesum 1+3+5+..+21=100
(R) : The sum of first n odd positive integers is n?
(A): 1+3+5+...+2] o 30850 =100
(R): 3066 n B2 dopge 3ngsn n’ ok,
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(A): If the perimeter of a rectangle is 12 meters, then its maximum area is 9 m?2. .1'774
(R) : Geometric mean of two positive numbers is less than or equal to their Arithmetic mean. ’
(A): BY, $SHSRHD0 B8, SoepFod 12 Ml wond Kogem &l Srogin 9 8.0

K. "
(R) : Bocko GBS Dowge Ko :53650‘63533 T8 o8 ;’)Jcﬁgiéaaéao 508 éé\)bé B H35e85%.

. (A):If D, E and F respectively represent orthocentre, centroid and circumeentre of 178

atriangle AABC, then Area of ADEF= —}1— (Area of AABC)
(R) : Inany triangle, orthocentre, centroid and circumcentre are collinear.
(A): D, E S0 F e ©eHasn ABC &0o¥) w0800, SoErerdsn $o00I» H0DYE .
) Bogsmnen wond, ADEF 60§, 7ogo = % (AABC 370g0) _—
(R) : wf @sbadnd’, ©ow8old0, oEerdsn $o00w HOSyB8 o0 SéPHosTen.

2. (A): The sumofall internal angles in a pentagon is 540°

(R) : Apentagonhas5 sides
(A) : Howsehe S8, wosSS ey Sngdn 540°
(R) : Howszha Sodd 5 ghared & 0Bl —

|

3. (A): The area of an equilateral triangle of side 5 cm 1s —45-«/5 cm?

|
=

2
(R) : Sum of the angles in the triangle is 180°
(A) 1 520.D08Hnd0 FEY CORS wé Dloerdo Behadn 08 dFeogsn
—221\[3 $.200.20.

(R) : @&Hzdnsocd Fodne Bngdn 180°

B Y
h

174, (A): 12 + 22 + 3% 4 - +49° = 40425

n(n+1)(n+2)

(R) : Sum of the squares of the first » natural numbers is <

(A): 12 4 2% + 3% + - +497 = 40425

(R) : 3088 n dFre dopgo ST© 3208850 n(n+D(n+2)

6

1778
L72s

75 1f the word LINE is coded as QMQG, then, in the same code, the word FORT is coded as

LINE 56508 ‘QMQG’ T §6 3055 o8 56 oid” ‘FORT’ $&%0 R0, §'6 o

(1) KSUvV (2) KUVS 18
wad

(3) KVUS % (4) KSVU :

hY
If the word BRING/ ?ﬁbgoded as 50 and STATE is coded as 65 then in the same code, the
word SWORD iscoded as: §Qay
‘BRING’ $&808 50 o ;’3350%5( ‘STATE’ H8508 65 o FEIDS, 08 §& S0
‘SWORD’ 550 &g, &6

“““““““ Hn o9 (2) 79 _ (3) 94 4 8 @ -
Y :
\‘%( - {0})3 } 40-D
o T\
We o
- P8
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In a certain code the word ‘PRINCE’ is coded as QQ JM DD. Then in the same code,
CHARIT is coded as

w8 @égé §£86350¢% ‘PRINCE’ ed H&S0S QQ IM DD m FEBD. 08 Fherdd®
‘CHARIT’ &308), §'6 _

(1) DDBQJ (2) DIBQIJU (3) DFBQIV (4) DGBQIS

_Ina certain code, the word NESTUM is coded as 123456 and the word PARIS is cod@d as

78903, then in the same code, the code for the word TAMPER is

2.8 D88 §6 ehes® NESTUM H&50i0 123456 mds PARIS 0¢850 78903 o §'&
3955 08 58 ordes® ‘TAMPER’ 380 Sw¥) §°6

(1) 485219 (2) 482769 (3) 486729 (4) 483509

. 179.

In a certain code, the word MISTER is coded as STYTKR, then the word NORMAL is
coded as '

28 293 53 ‘MISTER’ &3 H$% SIYTKR = §°6 @c2088, NORMAL Hd0
R, §&

(1) TOMGXL (2) TOXMGL (3) TMXOGL (4) TOMXGL

180.

P is mother of V; V is sister of B. A is son of B. D is brother of A. S is mother of D. G is
grand daughter of P. T has only two children V and B. Which one of the following is true?

(1) Gisadaughter of B

(2) GisadaughterofV

(3) DisasonofT’sson

(4) There are five females and three males in that family

Vg ¢9 P, B R, FSBV, B &00%), S0k A, ASE, FSS% D, D Sng),
88 S, P &wg), Soddovren G. T o 5388 doedo V Hdadn B SrER0. wod &
BoHTIS® A8 JEg80?

(1) B &g, o§ 573 G

(2) V&Y, o8 559 G

(3) T &srshd @ng, of SHirdd D
(4) © SotnowsnSoh HHKK Qeo, SMRE YHPed I

.Ina family D is the wife of C and daughter of F and D is also the daughter-in-law of A. G is

the mother of C. A is the paternal grand son of E. Then how A is related to G
(1) Son -(2) Husband (3) Brother-in-law (4) Brother

2.8 %otowo $0& Do 558 Cang), erdy $o0akw F @ng), §brg S0ako A @0E),
Sgen D. CBwE), $9 G E Q¥ S5:760 Sodrdodd Awond A& G5 o Hooddw

(1) Sk () 8 (3) wrSlars588 (4) R
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The following are the conditions for the selection of a manager post in an organisation.
i) The candidate mustbe a graduate with at least 65% of marks. ; '
ii) Asonl st January 2018, the candidate’s age must be between 22 and 30 years.
iii) The candidate must secure at least 40% marks in the entrance exam and atleast 50% marks
in the interview. ‘
iv) The candidate must have management trainee experience of atleast 1 year.
(a) Incasea candidate fails to fulfil (i) but has a post graduate degree with atleast 60% of
marks, then his/ber case is to be referred to Head of human resource section.
(b) Incasea candidate fails to fulfil (iv) above but ready to execute a bond for two years
then his/her case s t0 be referred to the General Manager.
Based on the above information, answer the questions from 182 to 184.
2§ DOPS' o8 43506 &' gTIE JONER Bods Bider & BRI Q08
) oFg8 %o 65% Sr6,08 HeEdod &owd.
ii) 2018 0S50 1 o8, @dgl S5t 22 $oBas» 30 poddyore 8§ &owd.
i) wugg O3 268S" 80 £0% Sy, 00 508050 BOLETSS (STPE HEYS* 50% SR
SN ‘ ’
v) 588 £h%0 1 dod&do Qg @fbm wdEso §dn womd.
(@) 28 g NG 1 éﬁééée‘ié@‘w:ﬁ%éﬁg MBS S BHeS® 800 60% S50, ©2
€08 Sob, ©SJ/BR DASBE) (case) $38% Sddo Dol ©pH8S a3oaso.
(b) BT w55 A8 (1v) @ éﬁédxﬁééé‘o})ééﬁéﬁé, Dok DoIST© s a8 -
Lrhgdy (920D o @R, WS/ DHSPR) BIES 4,368 JIOTE.
28 I HEF o) esgrdorT WS, 182 Sood 184 8% Ko RHO 20O orci0d.

182. Lakshmi was born on 15t March 1993. She did her MBA and secured 62% of the marks.
Ata company she had a training experience after her MBA, for 13 months. Every member
in the interview board gave marks from 6 to 9 out of 10. She secured 5729, of marks in the

entrance examination. Then " 3
(1) The data provided is not adequate t0 take a decision
2) Lakshmi is to be selected
3) Lakshmi is not to be selected
(4) Hercase is to be referred to head, human resources section.
©8) 1993 S»8y 158 HEod. ¥ 62 &0 S, 08" MBA #rg @ob. MBA r8
305 stard 13 I 2, EoNS® BEE wdEso §On &0d. 2088758 SRS
B8 deghd s 10 Srd)o8 6 So08 9 SrEY 2. @D PIF 588
52% HorBoROB. RS

(1) dge0 BHHSSERE AW Aer (&em0¥0) HOF0.
(2) ofY dodH¥ BoSTO.
(3) &P JoHE BOHT .
(4) o DAY sn$% BSH0 el ©b8S 3807 d. e
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183. Amaris an applicant for manager post and was born on 27d September 1990. In the entrance
examination he got more marks than in interview. He got 55% marks in interview. He is
ready to execute a bond for two years. He got a first class in graduation securing 68% of
marks.
(1) Amar’s case is to be referred to head, human resources
(2) Amar’s case is to be referred to General Manager
(3) Amar is selected, as he satisfies all the conditions
(4) Amar’s data is inadequate to take a decision
Jub6 &GI8 @eﬁgg ®osS @i, 1990 R0 28 YPLpd. HIF HOES”T wEd,
SFPE HOES® K08 S Srdyen dodrBomrdd. vk SFPE HBES® 55% Sordyen
XTI, w88 Dok Jold)ore I8 HrAfEy asgE s oD &y asargd.
68% Srdn o8 o8 JMSE Fond® HES FBS° GdfEairgd
(1) o568 d2ErY) Srdd S5%He ©pH88 380w d
C(2) 256 2R0ErQ) w8ES DIwbs JBdowd
(3) ©Q) Ao &) HIDT W S8 ©H6 JobE walrgkd
(4) dgoDo BREEI8 @G dSrwrdo BB
184. Sobhan graduated with 55% marks and secured post graduate degree by scoring 63% marks.

In the entrance exam and interview he secured respectively 43% and 53% marks. He had
experience as management trainee for 2 years. Sobhan’s date of birth is 15th December
1986.

(1) Sobhan is not selected for the post. :
(2) Sobhan’s case is to be referred to the General Manager
(3) . Sobhan is selected for the post

(4) Sobhan’s data is inadequate to make decision

FES 55% Srdnes® HQHGB, MEEEE Fowes® 63% Srdper SEnF T, ©IF
HB8EeS K, aoé)dr§§e5":6o ©&8 SEI 43% 508080 53% Sordo) 0 BENET IR, LI
@bm &8 2 Jod&Te vhgho wob. FES PGPS S 1986 Aondy 15

(1) %S © GEGTIE JoDE sEBL.

(2) TS 2R0ErQ) BSES DIubE ATHo.

(3). TES © GEGTIE JoDE waSTyho.
(4) TS sSrardo Jgoho BHETIE T (©oirLo).
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5 persons A, B, C, D and E are to be invited on to the dais and are requested to sit on the
5 coloured chairs arranged in the order of Red, Blue, Green, Yellow and White. The person D is
not allowed to sit on the Blue chair. The Chief guest A is to be seated on the white chair only. The
‘person E is always to be seated by the side of A. The person B always to be seated at the middle.
Based on the above information, answer the questions 185 and 186.

A, B, C, D %o80d0 E $g5080 8 36808 29D 5709, wf SHIS° e@508)8 I8, deo,

@805), H0DHF) a0 B Sorhdiie 5 S os® ErSSseodIam wggBomdd. AeoS0M
58D D Srydorch. Somg ©85 A, B0l HODRS SrEd Sr&SS8sH. E o3 $g8 Dy
A8 DS SrE 858, B oI $g8 5365§e5“ FroSSBle. & D ddrado wrson,

a

185 So80s0 186 Kot zaraod asod. Ly Gy \.0
' . : . \ VRV
- 185. The ord h th t : e \
185. The order in which the persons are to be seated is o 3 %} \%

& Sg8od §r8)ddg Eo.

(1) CD.BAJE () D,C,B,AJE (3) DCBE% 4) ADBEC
186. Ifall the persons change their seats except the person sitting on the white chair, the person

E is to be seated in the middle chair and no one has the same earlier neighbours, then the

order of the persons to be seated on the dais is
B Sorb HYS* ST 538 WIT* WS Sgieosdsr 770 TIS00H $rd)Fod,

E :30455 5008 S08)S* ErEYSMT HHBN D 28,6 YHIES® &) ;5"6 &K FSK TB

§0h GodsrB, 88D Srod Sgfe EHoo

(1) B,D,E,C,A (2) B,C,EED,A (3) AD,E,B,C (4 B,AECD
187. Observe the following figure.

& BNS HerQ) dSodood.

4
45
13

SaReS
Biag
3

The minimum number of cubes to be placed in empty spaces t6 complete the cube is
085050 Jro VO E, 79 e’ GowIedS HoSSoe E5 dowpg
(1) 10 2) 17 3) 15 4) 22

188. Ahollow cuboid is constructed with identical small blocks as shown
in the figure. Three such identical cuboids are attached to it to form
a big hollow cuboid. Then the number of small blocks required to 4_
fill the hollow space is ;
D00 FWrdS o, BEDdITrSomr &) Q&) Indy(Blocks)o&*
F'eormrog) e.f 8 D) Aoed. qer ‘oé.gaéreéom &) Swrcko

' &«;S D00 BEWD Seurr God wE g 68 8 TR ;)636::?63 a8
SeorT &) @oaq) QoS @:3&653&333 ) Joche dopg
1 7 2) 9 (3) 8 (4) 16
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Seven letters G, N, T, Y, V, Q, C are selected and arranged in the dictionary order. Another

two letters are selected and placed in between these seven letters so that

i)  the position of the middle letter is not altered after the inclusion of these two letters.

ii) one of the two selected letters become the middle one for the right most five letters.

iif) for the left most five letters G is the middle letter and no two letters are consecutive.

Then the two letters included are

GN, TV, V,Q, C o3 2 oftrold Jonl 3D 8B BESOES0S® @i, $8

Bods wETOS JoNE B, & Ak v§TrY Ky’

i) % dodk wESNOd BYYS SHaS Dodg w§do o Jrdsoow G 0BLIENTH

i)  QoMEK) Bodd wEES00S® 2,883, HodIY VDD Ro 26 ©ddned’ Sy wgdo
e &ogeatanmdd

i) 25503 VIES Ko 2 wgssnes G gy wido wdgity, 2 Bodky wgdsnen
580 wESENe0 T DFOrS oI . ' ‘

wHydd BB & Tod ©Eor e

(1) D,X (2) E,U (3) LY 4) H,W

Daraemn vt

he * 190,

39

Consider the following activities in a student life.

A: Examinations B: Convocation C: Admission
D: Results E: First Class

If the sequence of occurrance of these activities is arranged in the reverse order, then the
correct one in the given options is

w8 Tyl SIS %003 & |8od TEgETrrody 8.

A HBEew B: 55Eas (sdddoro) C: Hado

D: $dsen E: &S @3

& wogiorared 208§ H583E ESooS” ©YSHyd & Bod wé)tjs"’ape'iﬁéo HOSDS Boo
(1) CADEB (2) ABDEC (3) B,D,C.E.A (4) B,E,D,A,C

191,

11
i
ii

In a class of 50 students, all students are ranked as per their marks in an examination. A
the 50 students got distinct marks from each other. A student Ram is in 18% position from
the top and another student Syam is in 26 position from top. The position of the student
from the bottom who got the rank exactly in between the ranks of Ram and Syam, is

50 S008 dorgien o 28 $568S° dorgfeoKds, 88 el HOES® SYS Srdy©
wrrdor orgodoen aupdd. 50 Ho08 DTS’ 208 &8 Sty T8, T O3 28
Z)d"gg  &od 183 @5260&'5‘263, SH8° NS g0 pood 26% ??;@%mﬁ‘;ﬁs &8, P08
g8 a)z‘l)()ééor? Hogge® Ho ogoslo BUNEFQ) 2.8 gl o 8ob ok N

1) 22 2) 25 3) 29 4) 23 e

1' 192.
A

*A, B, C, D and E are 5 boys sitting in a row. Bis on the right of C who is on the right of A.
The boy E is only one in between Aand C. D is on the extreem left side. Then the boy in the
middle of the arrangement 1$
A, B, C, D 508050 E o3 2888 earord 2.8 SEBS® LD wInd. AS 583
e el C8 8393 B 8»8) s, Addain Co Soggg areochy E ST
DN SN[ i’b%i):ﬁdé‘ D §rfT. @ 030085 S0y S00R arendd
(1) A 2) E 3) C (4) B

B o CBRO

>
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193, Mr. X starts from his office and goes 5 km towards East, then he turns left and moves 4 km
again wrning left and reaches his home after walking 8 km. Then the shortest distance
between his home and office, is (in kilometers)

wa,u m;'% 85 s $08 waendd Sy BF% 5 8. . IS éééoa"é NI INN) 5@(‘6@
§ 4 8.0, (BoreSos Shad, Sder JESH JIYSH S8R 8 8. Hoiresod @&

J80. @98 R0E3§ S28050 ehidH He 5‘:‘0@ SrdS0 (8.0, o&°):

(2) 12 3) 13 (4) 4

194, When the time is 1.15 p.m., the minutes hand in the clock points towards North, then at
2.30 a.m. on the next day, the direction of minutes hand shows is : :
(1) South (2) East (3) West (4) South West
Hacirto Soth HHeho HErgimo 1.15 ©00ddyd o Ao Sney GEs B3K Wrdod.
@008 PHVBT R GEaio 830 wonSRE T AW 20w Jrdoth &
(1) &8ev0 (2) 4>5 (3) Jusd08 (4) 38

195. A'is to the north of B, C is to the east of B, then the direction of A with respect to C is
(1) South-West (2) North-West (3) South-East (4) North - East
B Qo) g 835" A, B & &ridy 89" C 8o, C &)y ADwg), o4
(1) 3IHe (2) arasnsgo (3) emcko 4) Swsg0

2 certain code, the 26 letters of english alphabets are written around a circle in the same

~and each consonant is coded as the 4 consonant after it and each vowel is coded as the

vowel after it. Based on this, answer the questions from 196 to 200.

wod 200 J5% Ko PHOE & B0l sFESom saranesd 25008,

HEgE 56 rid’, volf ¥Esirososd Tued HEE v SBSEHS® ©508) PETred
T SHTE ST Tes mmn%&; 08 v = écﬁ:sf’é BN :éasvcéé @zﬁaaméa §6 S,
196. The code for the word ‘PRINCE” is

‘PRINCE’ H&0 Rwo¥), §°&: :

(1) TVURQO (2) TWASHU

(3) TWURGO (4) TVASIU
197. The word which is coded as KISJ is

KIS] = §°& SWcd He850

(1) GUMS (2) FIND (3) FUND (4) JUMP
198. The letter ‘X’ is coded as

X ol vgfo BnE), &6

1 A @ Z (3) B 4 C
199. The letter that is coded as ‘L’ is

L §6 3052088 e9gssn

(1) F @2 G G) H 4 J
200. The word BOND is coded as :

BOND &é5o’ g, 86

(1) GESJ (2) GASH (3) FARH (4) FERJ

%
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